6. 50

- 6.80 An incompressible, viscous fluid
placed between horizontal, infinite, paral

ities, U, and U,, as shown. The pressure gradie
in the x direction is zero and the only body for
is due to the fluid weight. Use the Navier-Stok
equations to derive an expression for the veloc]

distribution between the plates. Assume lamin
flow.

oy 7ne slaeC/./}E;c/ Cond.

lel
plates as is shown in Fig. P6.80. The two plat
move in opposite directions with constant veloc-
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_ FIGURE P6.80
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So  Thet The Jc—aﬂm,ooﬂpll/: of The Navier -Stokes Pjaa.é/o'n.s
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